Class 1(Maths)
C.A.E.H.S(Primary sec)

Revision(Question Set 3)

A)  Put the correct symbol in the boxes(>,<,=)

1) 31|:|35




B) Arrange the numbers in ascending order

1) 16,10,18,13,11,17.

2) 27,25,32,23, 28, 30.

3) 41,47, 45, 40, 49, 36.

4) 52,57,62,60,51,59.

5) 71,76,73,70,78,77

C) Arrange the numbers in descending order

1) 22,29, 20, 23, 33, 30.

2) 67, 60, 65, 69, 72, 70.

3) 83, 87,92, 90,86, 91.

4) 95,98, 88,87, 96, 100.

5) 77,79, 78, 80, 68,90.

D) Count backward and write the numbers from 100 to 50.

Do the sums in your maths copy.




Answers of Question Set 1

Maths Revision for Class 1(MCQ
based questions)-Question Set 1

Choose the correct option

1. Tmorethan 9 is

2.3 less than 7 is

()a)s
() b)3

() o)

(/) 4

3.3) 6 tens and 8 ones is

() a)86

\y*{)ese

() c)66

() d) 88



4. 4) Write the number "90" in tens and ones

() a) 9 ones and O tens
() b)9tens and 9 ones

() c)9tensand 1ones

&A) 9 tens and O ones

5.8tens +70nesis

() a)78

() b)70

08

() d)77

6. What is the correct number name for "88"?
() a) Eight

() b) Eighty

\94) Eighty-eight

() d) Eighty-seven

7. What is the correct number name for "50"?

() a)Fivety

() b) Five

\Q/C) Fifty

() d) Fifty-one



8. What number comes after 797

10. What number comes in between 49 and 517

() a) 52

() b) 48

\Q(c) 50

() d)47



Answers of Question Set 2

Maths Revision for Class 1(MCQ
based questions)-Question Set 2

Choose the correct option

1. Which is the smaller number here?

)a)73

\ﬁ} 61

() c)85

.1 d) 72

2. Which is the greater number here?

) a) 33

) b) 30

\/c) 35

) d) 31

3. What is the sum of 8 and 47

) a)i3

_ ) b)15

ak_/kffC)19

) d)10

4. What is the sum of 40 and 3?

") a)34

\/} 43

. ) c) 44

) d) 45



5. What is the sum of 54 and 39?

6. There are 37 mangoes in a basket.Ravi puts 15
more mangoes in the basket.How many mangoes
are there in the basket now?

() a)42

( ) b)40

ZCE

() d)50

7. Subtract 7 from 28 and choose the correct
option

() a)22

() b)20

\/{‘C) 2

() d)19

8.84-16 is



9. Ram has 40 chocolates.He gave 15 chocolates
to his friend.How many chocolates does Ram has
now?

10. There were 56 birds on a tree.9 of them flew
away.How many birds are left on the tree now?



